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Answers may be written either in English orin
Part A
Answer any ten questions.
Each question carries 1 mark.

Define Statistics.

1.

9. What is secondary data ?

3. What s Stub ?

4. What is infinite population ? . Q\

5. What i3 mode ? }

6. What do you mean by “Platykurtic™? Q}%

7 Probability of an event is given as — 84, Cunm@x

8. Whyis Fisher's index called ideal index ? Q

9. What would be your interpretation if %tion coefficient r=—-17 ’
10. State the formula for combincd n
11. Define Time Series.
12. What do you mean by simple correlation ?

- (10 x 1 = 10 mark

Part B

Answer any ten questions.
Each question carries 4 marks.

13. Point out some advantages of sampling.
14. What do you mean by Systematic sampling ?

15. What are the essential characteristics of a good
16. “Statistics affects everybody and touches life at many points.” Comment.

17. What is Scatter diagram ?

18. What are the uses of Index Numbers ?
o it —manaynaiaht of 200 oms. If an aPPIC weighing 250 gms-
: “ileemantie meal

average ?

s of sampling.

ematic sampling ?

13 Point out some advantage
What do you mean by Syst
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. g datd o ) 0
20, Caleulate median of the followIng 3() 40 H0 60 79(;3 281'0
92 . " ‘ )
Wage (less than) R ;2 o "84 06 127 1 |
Cwarkors . 16 - deviation and coeffie;
No. of worker: - coefficient of st.andﬂrd o fficiey, of
91, IfN =10, X = 12, 2X? = 1630, 1577 . a three year WEIEHted movip,
99, Find the trend for the following series under B ay
weights 1,2, 1 1'nspt'cti\'t'1}' : 7
Year 1 2 3 4 6 g

Price : 2 4 2, ﬁnd(a)P(AuB);(b)P(A')-

IFP(A) =5 P(B)=-6and P (AnB)=

23.
24. The following particulars are given : o
X Y
Arithmetic mean .. 36 85 ~
11 8 ° ﬁi‘-\'&_\“c@,

Standard deviation ... X
and Y = (%;Qﬁfﬁtnie the two regression equationg
o " S.

Correlation coefficient between X !
X W/
Q> (10 x 4 <
{Ts@f’art C
m\\%}; .
Answer any two questions.
9 -, /'I\ ’ - . .
%%@cﬁ question carries 15 marks.

. .
25. Find Karl Pearson’s coeffidient of Skewness from the following data :—

Size 5 8 10 12 15 18
Frequency : 3 8 14 20 13 2

26. Two urns contain respecti . :
pectively (10 white, 6 red
balls). One ball i »6red and 9 black bal ;
b (r)l;e 'a-“blls c\lrawn from each urn. Find the probabilit Is) and (3 white, 7 read an
ts black ; (c) both balls are of the same colog ity that (a) both balls are red
r.
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Expenses F
i ood  Rent Clothing Fuel :
rice (2004) ... 150 30 el Miscellaneous
Price (2005) . 145 30 75 25 40
omment on the changeg ; :
ges 10 20

In cost of |jy; '
Ing of 2005 When Compared
ed with 2004,

(2 x 15=4



